630

2021/11/12: 8 XTOKE

554_55)6 399 56@5 .
YW ﬁaumw—szo\ |
|
o I~ N S
= ~—
i _%F_ | N :::::::::::::::::::JI][::::::::::::::::S;::| I,
A | Y | aa
1
o | 20 ! T 7 7 111 1 1 17 1T T 7 I ﬁﬁﬁD6—23
70 8| 370 70 ::
q | Il
(’)Q I W§HD6—-23 ii = ! ii
<& o N 1
% & e T ] |
5{3'/\ — \ S i i it s i i s i i it
g | 8 |
40 10088.2=882 128 |48 10088.2=882 30
510 2000
RIBD 6 — 12 BB D6 — 23
A TR rpoitt BYBA VY — bR S=1/2
M M
————————— T | T
t | t
| | | | 65~ 74
S A | I A o 40 . 0~9 . 25
| — T % |
L : | : 0 =Y \\ —F4 ——
— | | | 8 Yo 1 n
a a | ¢ @2 [z
1N : | : A0 =
| <+ | |
IR | L e
o o | I o | | ~ o
gl 8 1 ¢ g | | |} 8 EENED S=1,/15  EHBEEN (BAM) S=1/2
& I i 2
i NN . . :
: : -l o L 2 ] i
| | | 00
— F ; L 8 e
| | | I |8 S CoLER
o NG N o . TR
3 | i - N 2voy—rG#| 02150 m?
| a.
_______ | | i TEE 13.422 kg
3 3 £ &L EE 505 kg
270 | 118 | 110 | 110 | 118 | |27 60 3@130 60 ) L
' =390 2 St b ; A
Zb 53R URAE 3EA400A—2 EHT
510 510 # #
B 1:10 ¥ i
F| H21.5.26 |B| 00 B w.mem |¥D-09010144
B 3 ® 3 T
- H HIOEHEG

VERTEX NIVFIA titatt




